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Berechnet die Ableitungen folgender Funktionen: Losungen vorher umfalten
a) f(x) = sin(2x) f(x) =2~ cos(2x)
b) f(x) = cos(5x + 1) f(x) = =5-sin(5x + 1)
c) f(x) = cos(x?) f(x) = —2x - sin(x?)
d) f(x) =e>*? f'(x) =5-e>*?
e) f(x) =In(x? + x) ff)=Q2x+1)" )
f) f(x)=sin(x%) () = 5-x* - cos(x5)
g) f(x) =In(2x?) ) =5t
h) f(x) = sin(2x® +x* +x) fo(sgz)z;* + 2% +x) - (6x% + 2% + 1)
i) f(x)=-cos(2x+1) f'(x) =—sin(2x +1) -2
) fx)=3-e*"2 f(x) =3-e*2. 2x
k) f(x) =2-sin(3x +4) F(x)=2-cos(3x +4)-3
) f(x) = (x +2)? f@) =2 (x+2)
m) f(x) = e2¥+! fr(x) = e?¥+1 2
) fG) = Ine?) Fw=2
o) f(x) = (x*+x)3 f)=3-(x*+x)?-2x+1)
p) f(x) = (sinx)? f(x) =2-sinx-cosx
q) f(x) =3-sin(e”) f'(x) =3-cos(e”)-e*
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